x=V3+ V203, a= V3+19 of, ¢ +42 V243 9] gk F5lH?

o 2—4«/5 ® 4+4\/§ 5 2«/%1—3
@2—2\/5 5 2+2\/§

(i)x=V3+ V29I x- V2= V3
¥ -2V2x+2=3
L x2-2V2x=1
(ii) a’ = g2 V243 — pP2V23 2
1 2-43

a2 2




2. 1999719 o}l x2 —2x -1, x2—2x 2, o, x2—2x—1999 Zof A
_]

>

X
AG=7t A4l AxpAlo] Fo 2 Q1B 54% AL BT IRI7R

@usH owuA 5K @64 G A

x2=2x-n = (x+a)(x=b) (a, b= ZAA5) 2t otH (1 < n < 1999
< 7pedsp)

ab=n, a=b-2
n=1-3,2-4,3-5, ---, 43-45(=1935) 9] 43 7}




3. (x+1)(x+2)(x+3)(x+4) —k7} o] A2l o] ShHAFA 07 Q)
g o, A4 k9] 2 AotH?

@1 o1 ® 0 @ 2 ® -2

~&B

(x+1D)(x+2)(x+3)(x+4) -k

=(x+1)x+4)(x+2)(x+3) -k

= (x> +5x+4)(x®> +5x+6) —k

x% +5x = X2 2| gstH

() =(X+4)(X+6) -k
=X2+10X+24 -k

A A O] HHH 24 -k =25

Sok=-1




4. x-6x2412 AP FAHY (2 +ax+b)(x* +cx+d) 7F FH AT
ol w, a+ b+ c+d g FoH?

622+ 1= (2t - 222+ 1) — 4x2
= (212 (20

=2 +2x-1)(x%-2x-1)

= (x*+ax+b)(x +cx+d)
Latbtct+d=-2




5.

a+b=1, a*+b*=-192 1, a®% 4 p>°00 o] gr27

@ -2 @—1 ®0 @ 1

B

a+b=1°Ab=1-a®l a2+ b2 =-1°B2
a?+(1-a)?=-1,2a>-2a+2=0,a>-a+1=0
o] 41| ol a + 12 ot
(a+1)(@®-a+1)=0,a>+1=0

Ze oz o

BP+1=00B2 43 =-1, b>=-1

- @200 | 2006 — (g3)666 . ;2 | (53)668 . 2

=a’+b%=-1




2 RE REATE 2209 Tk f(x) O] A4

© f(x) & thro] Wolqict,

~&B

@ 271 @3711 @47 © 8k

£(0) = —10]|B=

f(x) =ax®> +bx—-1 (a+0)25tHA
f(xz)—ax +bx® — 1],

f(®)°] f(x) & 7ol EojRE=

I 5 x® +cx+ 102 514,

(ax* +bx?=1) = (ax® + bx - 1)(x®> + cx + 1)
o] g-52lo] Hojof jtrt.

Avlae] &) ac+b=0---Q
a+bc—-1=b---©

b—c=0---

©°1Wc—b01 @°fl HASHH b(a+1) =0

b 0_1_1_61——1
b=0°]" ©NH a=1

(1)
(i) a=-1°1 ©, @IH p*-b-2=0
Lbhb=2EFE%

2 (a,b) =

-1
(1,0, (~1,2), (-1,-1) 2] 3 %




99 9] 24eA4 ko] tiskol x— kB Lhie A7} kel kA £(x) €]
Me Fohu?

® oA @174 ® 271

@ 370 ® 73] g

~&B

L 2] Aelof efste] dojef A4 kofl Histe] - f(k) =
kA g(x) = f(x) - x 2 FH LE ZA5o] A g(x)
o] 4%

g(x) =0
5 fx) =x
- 17K

k




bx(a®x? + 2a%y? + b?y?) +ay(a2x2 + 2b%x% + b%y?) < 7hral
bx + ay bx + ay

H?

@® a?x? + b?%y? @(ax + by)?

® (bx+ay)? @ 2(a%x% + b%y?)

® (ax+ by)(bx + ay)

B

(B2 = bx(a®x? + 2a%y? + b*y?) + ay(a®x* + 2b%x* + b?y?)
= bx(a®x? + b*y?) + 2a*bxy?* + ay(a®x*> + b*y?) + 2ab*x>y
= (a’x* + b*y?)(bx + ay) + 2abxy(ay + bx)

= (bx + ay)(a®x? + 2abxy + b*y?)

= (bx + ay)(ax + by)?

w2bA, (£ )= (ax + by)?




9. o3 A (a+b+c)(ab+ be+ ca) —abe 0] 571 obd A-22

D a+b @ b+c ® c+a

@b—a ® -b-c

B
AN aofl Wi WAz o= A 2|5t
(a+ b+ c)(ab+ be + ca) — abe
( c)a® + (b? + 2bc + ¢*)a + be(b + ¢)
+c){a*+ (b+c)a+bc}
< Oa+b)a+e)
£ ®b-a= A%} ol




(a+b+cf —a® = - A5R T 0, g F A7} ok
AL

® a+b @ b+c
® a+c @ a®+ab + bc + ca
@a2+2ab+b2

~&B ~

=A) ={(a+b+c)®-a® - (b®+?)
=(a+b+c-afla+b+c)®+(a+b+c)a+a®
—(b+¢)(b? = be + ?)

= (b + ¢)(3a® + 3ab + 3bc + 3ca)

3(b + c¢)(a® + ab + bc + ca)

3(b+c)la(a+b) +c(a+ b))
3(a+b)(b+c)(c+a)

—

— — —




11. E}%%(ﬂ)3+(i)3—1ﬂaﬂ@%ag?
1000 1000
32 x 997° 32 x 997° 32 x 997°
O @ 10 ® - 10
32x 997 @ 32 %997
10
997 § 997 + 3

A Ao — 3 — & G HH — 10|22
Fold Al 1000JJr 1000 A<f 1000 ]

997 3
=—_ b=—,c=-10° ™

1000 Togr € = ~LoIFF st

a® + b3 + ¢3 - 3abe
= (a+b+c)(a®+b*+

a+b+c=0°] Hc}.
WA a+b+c=00]

2=

+c?—ab-bc—ca) oA @ +b3+c3 = 3abe

dZ o]-8ohH
drpae— (D) (B ) cpage
3abc = 3 x 1909070X103WX(_1)9}€22—E"
Foh g

3x% %x(_l):_ng_ogw




12. A WHo] Aol7}x, y, ¢ A2

1 42 BCOIA 54 (x* -y (x +y) -
2(x*—y*)22+ (x-y)zt = 0°] 4

A
He o], AABCE o H 42171

(x* =y (x +y) = 2(x* = %) + (x —y)2*
= (x=y)(x+y)?(*+y*) - 2(x - ) (#® + 1y +y*)2® + (x - y)z*
= (x = + 22y +y*) (2 +5%) = 202 + xy + )2 + 2}
( -t + 222 + 263y + 2xy3 + x2y? + y* —2x22% - 2xy7% -
2+
(x=y)xt +y* + 24+ 2x%y% — 2x272 — 2y%2% + 2xy(x% +y% - 22))
= (x =+ 3% = 22)2 + 2xy(x% +y* - 22)}
=(x- Y)(x +y —Z)(x2+y2—z2—|—2xy)—0

DO
><

y?

o x=y9l ol 5H A4 EE 7} HlHIg] 22 A7t
(cx?+y =22+ 2xy = (x+y)? - 2ol A AT Wil x, y, 2

=x+y#2)




